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(i)

(gif)

{iv)

{v)

(i)

Paper contains 40) questions carryving ONE mark each.

Every question has four choices for its answer (A), (B).

(C) and (D) and only one of them is the correct answer.

On the OMR sheet, for each question number, darken
with a ball peint pen only one bubble corresponding to
what you consider to be the most appropriate answer

from among the four choices.

Please note that it is not possible to change the answer
once you have filled up the bubble with a ball point pen.
Hence sufficient care must be taken while darkening the

bubbles.

For each question, you will be awarded one mark, if you
have darkened only the bubble corresponding to the
correct answer, In all other cases, you will get zero mark.

There is no negative mark.

Only one OMR sheet will be provided.

(vii) Use only black or blue ball point pen.
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1; According to Neo-determinism human beings can conquer nature by :

(A)
(B)
(C)

(D

Obeying it
Destroying it
Understanding it

Neglecting it.

2. Which branch of geography does not belong to human geography ?

(A)
(B)
()

8)

Population geography
Economic geography
Physical geography

Social geography.

3. Population increases by the difference between the births and the deaths in

a particular region between two points of time is called ?

(A)
(B)
(C) ~

o)

Growth of population
Natural growth of population
Positive growth of population

Negative growth of population.

4. Which one of the following is not a component of population change ?

(A)
(B}
(C)

(I
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Birth rate
Sex ratio
Death rate

Migration.



“(A)

(B)

(C)

()

Which one of the following is not an area of sparse population 7

The Atacama Desert
South-East Asia
Equatorial region

Polar regions

6. Demographic transition theory can be used to describe and predict ?

(Al
(B}
(C)

(D)

(£}

(i)

{idi)
(o)
(A)
(B)
(C)

(D
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Sex ratio of the area

Population of the area

Economic development of the area
Literacy rate of the area.

Arrange the countries in ascending order of their population :

China

USA

India
Indonesia.

(£}, (i), (i), (iv)
(v}, (1), (fez), (2)
{idi), Givd, (6), (£6)

(fw), (i), (), (@)
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B. Expanding population pyramid shows :
{A) Wide base
(BY Narrow base
(C) Bell shaped
(D)  Developed economy.
9. Which one of the following diagrams shows age-sex structure of population ?
(A} A line graph
(B) A bar graph
(C) A pie diagram
(I} A population pyramid.

10.  Which one of the following options is reflected by the population pyramid
of Japan 7

(A) Low birth and high death rates
(B) High birth and low death rates
(€C) ° Low birth and low death rates
(D) High birth and high death rates.

11. Which one of the following continents has a low sex ratio in the world ?

(A)  Asia
(B) Europe
(C)  Africa

(D) North America.
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12.  Which one of the following best describes development ?
{A) An increase in population
(B) A constant in size
(C) A positive change in quality
(D} A decrease in population.
13. Which one of the following key areas is not a part of human development ?
{A)  Opportunities
(B) Education
(C)  Health
(D) Number of people.

14, Which one of the following countries ranks first in the world in Human

development index 7 1
(A) Canada
{B) Norway
{ﬁ} Iceland

(D) Australia

15. Which one of the following is not an approach to human development ?
(A) Income |
(B) ~ Welfare
(C) Equality
(D) Capability.
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16.  Fodder crop is an important component of which of the following types of
farming 7
(A)  Mediterranean farming
(B) Mixed farming
(C) Eﬁansive commercial grain farming
(D} Dairy farming
17.  Grazing in parcels is an important characteristic of which of the following
activities ?
(A) Nomadic herding
(B} Commercial livestock rearing
{C)  Dairy farming
(D)  Factory farming.
18.  Which of the following activities was associated with early human civilization ?
(A)  Pastoralism
(B)  Agriculture
(C) Hunting and gathering
(D)  Mining.

18.  Which of the following is not the other name of slash and burn agriculture ?

(A)  Jhuming
(B) Milpa
(C) Ladang
(D) Kolkhoz
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20.  In which of the following types of agriculture the citrus fruit is very important
produce ?

{A)  Market. gardening
(B) Plantation agriculture
(C)  Mediterranean agriculture
(I} Co-operative -fam-ing.
21.  Which one of the following is frue with reference to Denmark ? 1
(A)  Mixed farming
(B} Plantation
(C)  Dairy farming
(D} Grain farming.

22. The practice of rearing of animals for food and other human uses is
known as :

(A} Professional livestock rearing

(B)  Commercial livestock rearing

(C)  Social livestock rearing

M}  Subsistence gathering.

23.  Subsistence agriculture can be grouped into.

(A)  Extensive subsistence agriculture and intensive subsistence agricu.{ture.
(B)  Primitive subsistence agriculture and intensive subsistence agriculture,
(C}  Modern subsistence agriculture and intensive subsistence agriculture.

(D} Non-existent subsistence agriculture and primitive subsistence
agriculture,
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24, Name the activity which transforms raw material into valuable products ?
{A)  Primary activities
(B}  Secondary activities
(C) Tertiary a{‘;*tiﬁtiE:H
(D) Quaternary activities.

25. "-‘I'i']ﬂch one of the following is not a factor influencing industrial location ?
(A) Fertile land
(B) Raw material
(C) Capital
(I} Transportation.

26. Industries which use more power are located close to the source of ?
(A}  Energy supply
(B} Communication supply

» (C) Labour supply

(D) Market.

27. Paper and furniture are industries based on :
{A) Mining
(B) Extracting
(C) Forest

(D)  Rain.
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28. Which one of the following iz not an example of ﬁgm—bused industry ?
{A) Sugar industry
(B) Cotton textile industry
(C) Food processing industry
(D} Petrochemical industry,

29.  Name the service which does not require professional skill ?

(A) Lawyer

(B)  Doctor

(C)  Teacher

(D)  Shopkeeper,

30. Which one of the following sectors is invelved in the highest level of
decision makers 7

(A) Primary
(B) Quinary
(C) BSecondary
(D}  Tertiary.

31. Which one of the following is a quaternary activity ?
(A) Research and development
(B Trading
(C} Farming
(D)  Policy makers.
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32.  Which one the following is the longest railway line in the world 7

{A) Union Pacific
{B) Canadian National
{C})  Trans-Siberian
(D) Trans Andean.
33. Suez Canal is one of the leading canal in the world which connects :
(A) The Mediterranean and Red Sea
(B) Black and the Mediterranean
(C) The North and the Baltic Sea
(D) Baltic and White Sea.
34. Roads built along the international boundaries are called ?
{A)  National highways
(B}  Border roads
(C) International highwavs
(D) Expressways
35. Which one of the sea routes is also known as the Big Trunk Route ?
(A}  The Southern Atlantic Sea Route
(B) The North Pacific Sea Route
{C) The Northern Atlantic Sea Route
(D) The Cape of Good Hope Sea Route.
36.  Most of the world’s great ports are EI.EI-EEiﬁEﬂ BE binerrdiEal i)
(A) Naval Ports
(B} 0Ol Ports
(C) Comprehensive Ports
(D) Industrial Ports,
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37. What is the term used for the trade between two countries ?
(A) Internal Trade
(B) External Trade
(C) International Trade
(D)  Domestic Trade.
38.  What is the term used when exports of any country are higher than its imports ?
(A) Favourable Trade
(B) Unfavorable Trade
{C)  Opposite Trade
(D) Unbalanced Trade.
39.  Which type of settlements are found in coastal plains ?
{A) Compact
(B) Semi-clustered
{C) Hamleted
(D)  Dispersed.
40. Which one of the following forms of settlement develops either on the side

of roads, rivers of canals ?
(A}  Circular

(B) Linear

{C}  Cross-shaped

@) Square
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